
w'sf]{6 ufpFkflnsf

ufpF sfo{kflnsfsf] sfof{no

aaf]{6, u'NdL

cfly{s k|zf;g zfvf



cfDbfgL

qm=

;+=

ah]6 zLif{s cg'dflgt 

ah]6

cfDbfgL s}lkmot

s_ ;+3Lo ;/sf/

1 ;dflgs/0f cg'bfg 9,35,00,000 9,35,00,000

2 ;;t{ cg'bfg 29,04,98,160 29,04,96,160

3 ljz]if cg'bfg 1,00,00,000 1,00,00,000

4 ;dk'/s cg'bfg 1,16,00,000 1,16,00,000

5 /fh:j afF8kmfF8 6,87,28,180 5,85,25,869



v_ k|b]z ;/sf/

1 ;dflgs/0f cg'bfg 50,40,000 50,40,000

2 ;;t{ cg'bfg 1,73,50,000 1,73,50,000

3 ljz]if cg'bfg 60,00,000 60,00,000

4 ;dk'/s cg'bfg 1,50,00,000 1,50,00,000

5 /fh:j afF8kmfF8 40,00,000 75,81,411



u_ cfGtl/s >f]t

1 cfGtl/s /fh:j 36,00,111 42,41,388

2 ut jif{sf] gub

df}Hbft

3,03,15,104 1,41,42,893

3_ cGo cfDbfgL

1 lhNnf ;dGjo ;ldlt 5,00,000 5,00,000

2 :yfgLo k"jf{wf/ ljsf; 

;fem]bf/L sfo{qmd

1,00,00,000 1,00,00,000

3 k|zf;sLo ejg lgdf{0f

k"jf[wf/

68,00,000 68,00,000

57,29,31,555 55,07,77,721



vr{

qm=;+= zLif{s ljlgof]lht ah]6 vr{ /sd

s_ rfn" tkm{

1 ufpFkflnsf tyf j8f

sfof{nosf] ;~rfng vr{

6,35,50,000 5,42,03,760

2 rfn"tkm{sf of]hgf tyf

sfo{qmd

4,06,30,000 2,85,63,472

3 ljifout zfvfaf6 ;+rflnt

of]hgf tyf sfo{qmd

1,17,15,000 98,75,215

4 ;+3Lo ;;t{ cg'bfg rfn" 25,79,71,160 23,34,05,757

5 k|b]z ;;t{ cg'bfg rfn" 41,00,000 38,53,960

6 k|b]z ljz]if cg'bfg rfn" 43,00,000 38,24,830
hDdf 38,22,66,160 33,37,26,994



v_ k'FhLut tkm{

1 ufpFkflnsf tyf j8f sf] 

k'FhLut vr{

9,07,53,745 6,97,76,152

2 ljifout zfvfaf6 k'FhLut vr{ 10,85,000 10,39,957

3 ;+3Lo ;;t{ cg'bfg k'FhLut 3,25,27,000 1,23,22,460

4 k|b]z ;;t{ cg'bfg k'FhLut 1,32,50,000 1,18,20,376

5 ;+3Lo ljz]if cg'bfg k'FhLut 1,00,00,000 92,44,430

qm=;+

=

zLif{s ljlgof]lht ah]6 vr{ /sd



6 k|b]z ljz]if cg'bfg k'FhLut 17,00,000 16,09,347

7 ;+3Lo ;dd'/s cg'bfg k'FhLut 1,16,00,000 96,45,262

8 k|b]z ;dk'/s cg'bfg k'FhLut 1,50,00,000 1,14,30,426

9 :yfgLo k"jf{wf/ ljsf; ;fem]bf/L 

sfo{qmd

1,00,00,000 93,00,765

10 k|zf;sLo ejg lgdf{0f k"jf{wf/ 68,00,000 68,00,000

hDdf 19,27,15,745 14,29,89,175

s'n hDdf 57,49,81,905 47,67,16,169



qm=;+

=

zLif{s vr{ k|ltzt s}lkmot

1 rfn" 87=3%

2 k'FhLut 80=13%

3 s'n hDdf 85=02%



cfo Joo

cfDbfgL 55,07,77,721 hDdf vr{ 47,67,16,169

a}+s cNof 1,93,86,919

lkmtf{ 5,46,74,633

hDdf 55,07,77,721 hDdf 55,07,77,721



ljkb Joj:yfkg tkm{

cfDbfgL

qm=;+= zLif{s /sd s}lkmot

1 ut jif{sf] df}Hbft 50,63,973

2 ;+3Lo ;/sf/af6 k|fKt 10,00,000

3 ufpFkflnsfaf6 ljlgof]lht /sd 40,00,000

4 d'VodGqL u|fld0f ljsf; sfo{qmdaf6 4,00,000

5 x]km/ k|f]h]S6 g]kfnaf6 ;xof]u 15,00,000

6 cGo ;+:yfaf6 ;xof]u 42,000

hDdf 1,20,05,973



vr{

qm=;+= zLif{s /sd s}lkmot

1 Sjf/]G6fOg tyf cfO;f]n];g Joj:yfkg tyf

cGo ljljw vr{ ut jif{sf] afFsL ;d]t

56,20,268

2 k|sf]khGo ljkb /fxt ljt/0f 11,69,800

3 sf]le8 !( lgoGq0fsf] nflu cf]iflw tyf

:jf:Yo ;fdu|L vl/b

13,50,970

4 lhNnf sf]le8 !( k|of]uzfnf ;+rfng ;xof]u 12,00,000

5 % a]8sf] c:yfoL cfO;f]n];g lgdf{0f vr{ 5,00,000

6 k|sf]khGo ljkbsf] nflu hfnL vl/b 2,98,320
s'n hDdf 1,01,39,358



k|sf]k Joj:yfkg sf]ifdf ePsf] cfDbfgL vr{sf] ljj/0f

s'n cfDbfgL 1,20,05,973.

s'n vr{ 1,01,39,358.

sf]ifdf art 18,66,615.



ljefHo sf]if

hDdf ;+sng ePsf] /fhZj

/sd

^) % /sd ufpFkflnsfdf

hDdf ePsf]

$) % /sd

k|b]zdf k7fO{Psf]]

18,88,425 11,33,055 7,55,370





k|zf;lgs vr {

qm=;+= zLif{s ljlgof]lht ah]6 vr{ /sd s}lkmot

१ kfl/>lds sd{rf/L 12800000 12776878

२ kbflwsf/L ;'ljwf 8000000 7610060

३ kf]zfs eQf 355000 270000

४ :yfgLo eQf 300000 272740

५ dx+uL eQf 850000 664000

६ sd{rf/L a}7s eQf 1200000 1083500

७ sd{rf/L k|f]T;fxg eQf 1500000 0

८ cGo eQf 500000 30000

९ cGo a}7s eQf -ljifout ;ldlt ;d]t_ 400000 353500

१० kbflwsf/L a}7s eQf 1600000 1560000

११ kfgL tyf ljh'nL 216000 114620

१२ s6'jfn ;+rf/ vr{ 85000 82800

१३ ;+rf/ dxz'n 775000 682423

१४ OGwg kbflwsf/L 550000 530000

१५ Ogwg sfof{no k|of]hg 704000 664000



१६ OGwg ljkb Joj:yfkg 400000 361409

१७ ;jf/L ;fwg dd{t vr{ 1145000 1130357

१८ PDa'n]G; dd{t vr{ 300000 300000

१९ ljdf tyf gjLs/0f vr{ 300000 230500

२० 
d]lzg/L tyf cf}hf/ dd{t ;Def/ tyf

;~rfng vr{ 509000 456420

२१ lgld{t ;fj{hlgs ;DklQsf] dd{t ;Def/ vr{ 1500000 1272902

२२ d;nGb tyf sfof{no ;fdu|L 2750000 2603973

२३ Ogwg cGo k|of]hg 464000 124653

२४ sfof{no ;fdu|L 5kfO 350000 272770

२५ kqklqsf, 5kfO tyf ;"rgf k|sfzg vr{ 1500000 1458243

२६ u|fdL0f vfg]kfgL sfo{qmd sd{rf/L kfl/>lds 1195000 1189730

२७ s/f/ ;]jf z'Ns 3650000 3560517

२८ kz' tyf s[lif k|fljlws tna tyf kf]zfs 1672000 1112380

२९ gu/ k|x/L tna eQf kf]zfs 1100000 1088700

३० cGo ;]jf z'Ns 100000 100000



३१ lbj; tyf ;df/f]x sfo{qmd 700000 640000

३२ cltly ;Tsf/ sfo{qmd 600000 529011

३३ sfo{qmd vr{ 100000 0

३४ ljljw sfo{qmd vr{ 100000 52340

३५ cg'udg d"Nof+sg vr{ 720000 708000

३६ e|d0f vr{ 2825000 2452363

३७ kbflwsf/L e|d0f vr{ 555000 327725

३८ ljljw vr{ 2300000 1789210

३९ sd{rf/L sNof0f sf]if 2000000 0

४० 3/ef8f 730000 695506

४१ ;jf/L ;fwg tyf d]lzg/L cf}hf/ ef8f 500000 307400

४२ ljkGg gful/s lqmof vr{ 200000 110000

४३ ;+3;+:yf ;xof]u 450000 426501

४४ k'n x]/fn' Hofnf 120000 114000

४५ Goflos ;ldlt tflnd 350000 330500



४६ kmlg{r/ tyf lkmSr;{ 800000 675165

४७ d]lzg/L tyf cf}hf/ 500000 387022

४८ ;jf/L ;fwg vl/b 500000 0

४९ j8f g+ ! k|zf;lgs vr{ 390000 367351

५० j8f g+ @ k|zf;lgs vr{ 390000 390000

५१ j8f g+ # k|zf;lgs vr{ 390000 389490

५२ j8f g+ $ k|zf;lgs vr{ 390000 387725

५३ j8f g+ % k|zf;lgs vr{ 390000 389835

५४ j8f g+ ^ k|zf;lgs vr{ 390000 389938

५५ j8f g+ & k|zf;lgs vr{ 390000 387603

hDdf 63550000 54203760


